
16'





4850mm(190.95")

4850mm(190.95")

3
0

0
9

m
m

(1
1

8
.4

6
")

3009mm(118.46")

2
3

2
7

m
m

(9
1

.6
1

")



4
8

7
6

m
m

(1
9

1
.9

7
")



X12

X12







1



2



3

B



4



Insert Part #B3 to Part #B4, align the holes,

 and secure with 6 Bolts #2.

5

Fix with 4 Bolts #3.

It's an ordinary situation that after the two beams are connected, 

there will be a little arch at the joint.

  Front View  

  Back View  

X2

X2



Seal the joint gap at both ends of the connector 

b of beam B3/B4 with leak-proof sealant Y.

 The adhesive can be applied with other tools or f                                                                             ingers

 during operation. The adhesive is non-toxic after

 curing at room temperature.

Leakproof seal range

6







Step 9:

①：Insert Par #Q1 & #Q2, and secure 

with 2 Bolts #10 and Nuts.

Repeat the above procedures to

 assemble another side.

②: Place Par #D1 on the Middle Beam #B, 

and secure with 8 Bolts #2.

9



Step 10:

①：Use 4 Bolts #2 to secure the assembled 

Beam #B3 & B4 with Middle Beam #B.

②：Cover the Joint Cover #P at the gap 

of the connection, and secure with 2 Bolts #3.

③：Fix with 2 Bolts #9.

Repeat the above steps to the opposite 

side.

10



Step 11：

Install Part #D on the inside of

 Part #B3 with 5 Bolts #3,

Repeat the above procedures

to assemble the Diagonally 

side.

11

BBB

B

B

B

B

B

B

B



Step 12 :

12



Step 13: Step 14:

13



14




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22

